
PAGE 10	 AIR REGULATION CONTROL EQUIPMENT PRODUCT CATALOG

HAMMER ON DAMPER HARDWARE & ACCESSORIES
‘RAPIT’® DAMPER REGULATOR

1. Slip the bearing over the edge of the damper at the bearing line.

2. Lay the assembly on any firm surface and rap the prong with a hammer.  
One blow drives the prong through the damper blade, holding it securely 
to the damper.

3.	 When hit with a hammer, the prong will automatically form up tight by 
the anvil, which is built into the bottom of the “Rapit” Bearing.

The RAPIT is an inexpensive, rattle-free regulator for quick installation on balance 
or splitter dampers. It is formed from rust-resistant, heavy gauge, galvanized 
steel and installs in seconds.  The Rapit will penetrate and secure to round 
or rectangular damper blades up to 24 gauge steel.  It has a fully retractable 
bearing of zinc alloy, threaded to accept a 5/16-18  wing nut and a handle that 
indicates the damper position. It’s as easy to use as 1-2-3.

SLIDE RAPIT EXTENSION

ECONO-STUD - ECONOMY 
DAMPER HARDWARE

RAPIT REGULATOR SETS
ITEM# CODE CONSISTS OF:
8087 RB56 1 RB-50 Rapit spring bearing; 1 RP-3 washer; 1 RP-2 wing nut
8086 RS156 1 RB-50 Rapit spring bearing; 1 RP-3 washer; 1 RP-1 handle; 1 RP-2 wing nut
8085 RS256 2 RB-50 Rapit spring bearings; 1 RP-3 washer; 1 RP-1 handle; 1 RP-2 wing nut
8233 RS356 1 RB-50 Rapit spring bearing; 1 RB-25T threaded Rapit solid bearing; 1 RP-3 washer; 1 RP-1 handle; 1 RP-2 wing nut

Note: Not recommended for use 
in systems over 300 o F. 

The Slide Rapit Extension provides a fast method for extending 
the length of a rapit spring end bearing 2’’. There is no need for 
tools; just twist the extension fork over the threaded bearing and 
slip the sleeve over the joint. Slide Rapit Extensions can also be 
combined to accommodate liner thicker than 2’’.  

2” extension
Two combined Slide 

Rapit extensions

RAPIT REGULATOR PARTS
ITEM# CODE DESCRIPTION
8088  RB50 Rapit spring bearing 

8201 RB25T Threaded Rapit solid bearing

8089 RP1 Rapit handle

8198 RP1T Rapit handle for RB-25T threaded bearing

8090 RP2 Rapit wing nut

8091 RP3 Rapit washer

7190 RP3-50NEO RB50 washer with neoprene

7191 RP3-25NEO RB25 washer with neoprene

7388 REC14 1/4” Square Rapit Extension 2-3/4” long

8344 RP2S 5/16-18 Tapered Wing Nut

7349 RP2E 5/16-18 Stamped Wing Nut

Packed 100 per carton* (*7388 packed 10 per carton)

Bulk packing also available

 RB50
Bearing 

 RP1
Handle

 RP1T
Handle

 RP3
Washer

 RB25T
Bearing

 RP2
Wing Nut

REC14

RP3-50NEO RP3-25NEO

Patent # 
8,356,796

ECONOMY DAMPER HARDWARE
ITEM# CODE DESCRIPTION
7031 ES14    1/4” 

Econo-Stud
7033 ES14W 1/4-20 Stamped 

Wing Nut
7035 ES14NW-NEO 1/4” Washer with 

Neoprene
8089 RP1 Rapit handle

RAPIT REGULATOR PARTS

SLIDE RAPIT EXTENSION
ITEM# CODE DESCRIPTION
7378 SRE516-516 5/16” Slide Rapit Extension

7308 SRE14-14 1/4” Slide Rapit Extension

 RP2E
Wing Nut


